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UNIVERSITY OF NORTH BENGAL 

B.Sc. General Part-II Examination, 2022 

BOTANY 

PAPER-V  

PLANT PHYSIOLOGY AND BIOCHEMISTRY, ECOLOGY, PLANT GEOGRAPHY 

Time Allotted: 2 Hours Full Marks: 45 

The figures in the margin indicate full marks. 

1. Answer any five of the following questions: 1×5 = 5
 িনmিলিখত �য-�কান পাঁচিট  pেűর উtর দাওঃ 

 rydk dquS ik¡poVk iz”ug:dks mÙkj ys[uqgksl~

(a) Write two features of a xerophytic plant. 
 জাñল উিdেদর dিট অিভেযাজনকারী �বিশŶ° �লখ। 

 e#föndks dquS nqbZoVk fo”ks’krk ys[uqgksl~A

(b) Where do you find pneumatophores? 
 Ƭাসমূল �কাথায় �দখা যায় ? 

 Loklewy dgk¡ ns[u ikbUN \ 
(c) What is the net ATP production in EMP pathway of glycolysis? 

 gাইেকালাইিসস-এর EMP পযর্ােয় �মাট কতgিল ATP অণু উৎপn হয় ? 

 Glycolysis dks EMP iz.kkyhek dqy dfroVk ATP mRiknu gqUN \

(d) What is food web? 
 খাদ°জাল কী ? 

 [kk|tky ds gks \ 
(e) What is ‘zwitterion’? 

 ‘Zwitterion’ কােক বেল ? 

 ‘Zwitterion’ ds ykbZ HkfuUN \ 
(f) Write one function of Gibberellin hormone. 

 িজেbেরিলন-এর একিট কাযর্কািরতা �লখ। 

 Gibberellin hormone-dks ,mVk dk;Zdkfjrk ys[uqgksl~A 
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2. Answer any one of the following questions: 16×1 = 16
 িনmিলিখত �য-�কান একিট  pেűর উtর দাওঃ 
 rydk dquS ,mVk iz”ug:dks mÙkj ys[uqgksl~

(a) Discuss in brief the factors which affect the pattern of vegetation. Give an 
account of the main flora of Eastern Himalayas. 

8+8

 িবিভn pকার বনানীর (Vegetation) pভাবকgিল সংেkেপ আেলাচনা কর। পূবর্ িহমালেয়র pধান 
উিdদ �গাŸীর বণর্না দাও। 

 :[kikrdks izfr:iykbZ vlj ikusZ rRog:dks NksVdjhek o.kZu xuZqgksl~A iwohZ; 
fgeky;{ks=dks eq[; ouLifrtkrg:dks ckjsek fooj.k fnuqgksl~A 

(b) What is transpiration? What are the different factors affecting transpiration. 
Describe the role of CO2 and light in the regulation of stomatal opening. 

2+4+10

 বাźেমাচন কােক বেল ? বাźেমাচেনর িবিভn pকার pভাবকgিল সংেkেপ আেলাচনা কর। 
পtরেnর উেnাচেনর িনয়ntেণ CO2 এবং আেলােকর ɛিমকা আেলাচনা কর। 

 ok’iksR;tZu ds gks \ ;lykbZ vlj ikusZ fofHkUu dkjdg:dks fooj.k fnuqgksl~A 
Stomatal opening ek CO2 vfu izdk”kdks Hkwfedkckjs o.kZu xuZqgksl~A 

  
3. Answer any two of the following questions: 12×2 = 24
 িনmিলিখত �য-�কান dিট  pেűর উtর দাওঃ 
 rydk dquS nqbZoVk iz”udks mÙkj ys[uqgksl~

(a) Trace the biochemical pathway in EMP route of glycolysis. What are the steps 
for the conversion of pyruvate to Acetyl CoA? 

8+4

 Glycolysis-এ �জবরাসায়িনক pিkয়ায় EMP-র পযর্ায়kিমক পথিট উেlখ কর। পাইrেভট �থেক 
অ°ািসটাইল �কা-এ (Acetyl CoA)-এর পিরবতর্েনর পযর্ায়kিমক ধাপgিল উেlখ কর।  

 Glycolysis dks EMP i)frek lEcfU/kr tSojklk;fud iFkdks vkdyu xuZqgksl~A 
Pyruvate-ykbZ Acetyl CoA-ek ifj.kr xnkZ nsf[kus dneg: ds ds gqu~ \ 

(b) Give an account of the factors affecting the rate of photosynthesis. Explain the 
law of limiting factors in photosynthesis process. 

7+5

 সােলাকসংেųষ-এর িবিভn pভাবকgিল বণর্না কর। সােলাকসংেųেষর Law of limiting factors 
gিল ব°াখ°া কর। 

 izdk”klaLys”kudks njykbZ izHkkfor ikusZ rRog:dks iw.kZ fooj.k fnuqgksl~A 
izdk”klaLys”kudks izfØ;klax lEcfU/kr Law of limiting factors dks o.kZu xuZqgksl~A 

(c) How are root nodules formed in leguminous plants? What are the factors- 
responsible for nodule formation? 

8+4

 িশm জাতীয় উিdেদ িকভােব মূেলর অবুর্দ (Root nodules) গিঠত হয় ? অবুর্দ গঠেনর জন° 
pেয়াজনীয় উপাদানgিল িক িক ? 

 dks”ks ouLifrek Root nodules dljh cfuUN ys[uqgksl~A Nodule xBuek vlj ikusZ 
rRog: ds ds gqu~ \ 

(d) How does C3 cycle differ from C4 cycle? Explain the fixation of CO2 in C4 
plants. 

3+9

 C3  চk িকভােব  C4 চেkর �থেক পৃথক ? C4 উিdেদ CO2-এর িsরীকরণ pিkয়ািট ব°াখ°া কর। 
 C3 pØ C4 pØflr dljh Qjd N \ C4 ouLifrek CO2 fLFkjhdj.kckjs o.kZu 

xuZqgksl~A  
 ——×—— 
 


